| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

30

20
track dz (cm)

10

5 10 15 20 25
track dxy (cm)

5 =20-15-10 =5 0

| N of associated (recoToSim) looper tracks vs dz |

sxoen aredidnp H

30

track dxy (cm)
10 20
track dz (cm)

0

track dz (cm)

o o
. kR W
m .
kS .
LR . o
P g deedee®
= N
N N o . .
L L L . T fat TR umw
S T [ =] 3 3
=
ST m, M syoel) axyey oney
=
]
& o o
Q NE ] 15}
3] o G
7] IS
3 0 5
3 =T
< x
w do e M
=] — O N o
g =5 =
& e .
N x
m, =o 8 o
X B o £
o 1 @ o
=} ° =
et 15 's |
=3 L 2
8 =t = o
as | 3 N
MW AR ] !
s o
[T | P 9
5 o TEzg oy g 5P
= c > 5 >
— B = [=} o
T o z
FOoH -
S O
]
T=
S0

30

20

track dxy (cm)
10

0

-10

-20

0

s huu
[
o
—

syoen

05 =50-15-10 -5 0 5 10 15 20 25
95
3

N of reco track vs dz

0.!

syoen

track dz (cm)



	Contents
	Page 1


